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Why do I need to mention the case of 31X 771917711 Snsaws

OVERVIEW

The X713 asks that once the m1wn taught us that oXw 797 is effective even by MoK
YR NWX (in the case of "X AW1IN N> WX NWX), why is it necessary to teach us the
rule of MOXW 7197 in the case of "IX 771701 °N°2w1 (which is not as strict as X"X). The
X3 answers that the 71wn wants to teach us that in the case of "X 7717V *n2aws if
07y testify later that she was nawi, nevertheless X¥n X2." Our moon clarifies why
the X773 did not initially offer an alternate answer.

nooIn asks:
— YN RY INNN DNYAN 12 PYUNY 139D NYUP)

The R'"2w9 has a difficulty; why did not the X7 answer that the 7w» mentions the
case of "IX 7MWY NP1 -
— 20303 NION 9IN 199N NINNY MAVIY DO1Y U ON NSO 2015 ¥aT DIUN

Because it wants to teach us the X9, that if there are 2%ty that she was
captured and she claims %X 7797, she is not believed.’

N1B0IN answers:
— 1Y 1PPNY PRINNT RDSONT TPIVSN KY RN DIVNT 1Y W

And one can say; that on account of this aforementioned 17’17 it is not
necessary for the 71wn to teach us the ruling by a 712w, for we derive this from

the X2°0 of our MW -
— M09 N9INA INNNIVY MIND Ys Sm:ﬂ: MYVAIY 9%y “m’v NNPT

Where the mwn teaches in the 89°9; “a city which was captured by a 21592, all

" The x7m3 then challenges this answer (and offers an alternate answer).
% This w7n is that even though the 0*7¥ do not testify on her xmv (merely that n°aw3), nevertheless she is not nIHX
to say "I 7w, The mawn is teaching us the rule that a 7m2w is 711757 7oK and (therefore) there is no Wn (see
‘Thinking it over’ # 3). This would be even a greater ¥17°n1 according to °nw 7"7 2,33 '01n that the case of n°aw1
°IX 717171 is even in a situation where when the woman said n°aw1 she was not aware that there are n"awiw o7 and
nevertheless she is not believed. See “Thinking it over’ #2.
? The advantage of '0n answer is that there would not be the challenge which the xn3 poses (see footnote #1). [In
addition, according to the s'Rm) answer that even if 07y came later R¥n X2, the v17°n is a leniency (by 7™M2w);
however according to '01n answer the w17°11 the she is not nnKR1 (even if she was not aware of the 0*7v) is a strictness.
712w is only 1312771 770X (and consequently in some cases we are lenient by a 7M12w) therefore the w1 7°n of a X
by a 72w is greater than the w17n of a R by a m1aw.]
*X,12. See ‘Thinking it over’ #1.
> 01272 means a siege (see *"wA there 21375 7"7). The city was captured after it was besieged by gentiles.
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the n7> that are found within the city are unfit for o%17>° -
SN 19990 9919 NN NN
And she is not believed to claim 8 70,6

SUMMARY
We can (also) know the ruling that if there are nawiw 2°7y, she is not believed to
say "IN Mo, from the 71wn of 21270 MWW Y.

THINKING IT OVER

1. mooin states that we would know the rule that if 27V testify nawiw that she is
not N1X1 from the X9°0 of M375 Mwadw 9°v.” Seemingly nvoIN could have said that
we know it from the 71wn of 12wiw 01w "nw, which must be discussing a case of 182
0°7v (for that is why she is not 7%y %9 ninRi); why did mooin find it necessary to
cite a later 71wn, when he could have cited an earlier mwn?!®

2. According to footnote #2 m»d0IN answer is not understood, since from the 71wn
of NIMRI AR 21 07y W oX), we derive a greater Y17°1 than from the m1wn of O1373.
The mwn of o7y W oX1 teaches us that even if she said (X 77170Y) *nN°2w1 without
knowing that there is nawiw o7y (which seemingly shows that she is honest),
nevertheless she is not believed to claim °1X 77170. We cannot derive this from
m1573. Seemingly how did mooin answer his question?’

3. mooin asks that the X723 should have answered that the w17°n is that if there are
o7y that she is a 72w, she is not ninX1.'" Seemingly this can be derived from the
X regarding *IX w173 N7 XX that if there are 7Y she loses her QoKXW 7197, the
same is by 7Maw; why is it necessary to state 121 2wy 07y w° o121

% She is not believed to say X 70 since we are all 0°7v that they were captives. We can derive from there that a
woman is not believed to say X 77171 (°*n°2w1) when there are N"2wiw 0*7v.
7 See footnote # 4.
¥ See [TrxA] X"wAn.
? See (1"7v) 0"nm.
12 See footnote # 2.
' See anx nx.
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